8 | | 6 5 4 | | 2 | 1
| 180.98 mm 2.06
R6.83 mm [7.125 in] [0.081 in]
o| [0:2691in] U
117.48
_ F [4.625 T;T"‘
o3 i
. mm
o 1 ® ®
c 20.24 mm
[O.7€i7 in]
156.54 mm U
s B B
SECTION U-U ' '
ASSEMBLY - VIEW FROM SIDE (OPEN)
175.97 mm
- [6.928 in] 163
R5.54 161.24 e 03 MM
[0.218 in] \ [6.348 ﬂ]n [0.064 in]
{ " N
55.04 mm —O O
[2.167 in]
117.48
3%-;20”.‘”‘ [4.625 I|Tr]1r]n
B [1.2501n] - 12 GAUGE ALUMINUM BODY PAINTED (RAL 7032)
o - EIGHT 6-32 NICKEL PLATED SCREWS
j Yy, EIGHT 4-24 x 1/4" SELF-TAPPING SCREWS
- - 0.064" THICK ALUMINUM PANELS (NATURAL ALUMINUM)
Z%ffg“;g" END PLATE - VIEW FROM OUTSIDE / \ - FOUR SELF ADHESIVE RUBBER FEET
1 3f-égsmm \ EXTRA SCREWS - 142136 (6-32 x 1/4 SHEET METAL SCREWS)
[1. in] [ \ Contact Factory mjm@hammondmfg.com for quotes
x \ Enclosures can be Factory Modified ( Milling, Drilling, Printing etc. )
:[Lgfglmni Solid models of this enclosure available in STEP or IGES.
B n
2l dnpnl N\ G HAMMOND
1.91 mm 13.20 mm =
. (6.075 in] L[o.szo ] 229 mm EXTRUSION - VIEW FROM INSIDE MANUFACTURING - .
20.82 mm
[0.820 in]
DETAIL W 1402B
www.hammondmfg.com
8 T T 6 5 4 T T 2 T T




